10654 1 50401 fR ERS T4 54 44 B8

HR P&k BRI |EELEOD
% &i— 337 700
B = 199 600
B= &Gi—7 182 500
£ UE - 164 400
FHH 47, 148 300

10655 [ SR 252 ] A FERRE A\ 194 1 B

ZR P&k P44 ERIME | BEEH0D
£—% = BT 191 100
£ &Gi—2 Eiiz 101 100
£ B TRIEE 62 100
FlUt4 &i—2. EEEEHE 59 100
FEHE Li—W ERTAE 56 100
FHH & AvAlL] 56 100
F% Gi—2 = 49 100
Fts & 5 I 42 100
EACH i 52 M 39 100
Fhs &i—H B A 35 100
B4 G A 34 100
Ft+—% &Gi—H R 30 100
E+ =% Li—W HAE 21 100
T4 &i—2 =R B 21 100
=% B ERian 19 100
FHUH Gri—T BINE 18 100
Bt+HH R— BEI 7 17 100
B+HHA = RFR 17 100
B+% B FRHTEE 16 100
FHAH 2 TEE 16 100
B+A% G BeEx 16 100
£ Lr—H F2 15 100
E R mees = B e 15 100
£+ /\# 7 PR ERE 14 100
£t/ \&H Gi—T (ERESES 14 100
ERwIEs = A 13 100

1065 S22 17 T4 mER G

K SoAR P US| EEEZF00)

F—H GE—mH B 8 100

1065 FEER2E2] WIT] S BRI A G

R ISR 2 JUEER | EEEZF00)
H—% B TR 15 100




